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Push strategy

v

Retailers and
Producer » | Consumers
wholesalers Reseller marketing

activities (e.g. personal
selling, advertising,
sales promotion)

Producer marketing
activities (e.g. personal
selling, trade promotion)

Pull strategy

. Demand Retailers and Demand
Producer < < Consumers
wholesalers

Producer marketing activities (e.g. consumer advertising, sales promotion)
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Push strategy

Producer marketing wholesalers

activities (e.g. personal
selling, trade promotion)

» | Consumers
Reseller marketing

activities (e.g. personal
selling, advertising,
sales promotion)

Pull strategy

. Demand Retailers and Demand
Producer 4 < Consumers
wholesalers

Producer marketing activities (e.g. consumer advertising, sales promotion)
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